VANTAGE Value Line 32" Direct Vent Burner Assembly

MODELS: VT32N-A, VT32P-A, VT32ZNR-A, V32PR-A, VTIZNB-A, VT32PB-A, VT3ZNRB-A, VT32PRB-A

Part Number Description
1 11102 Screw #8-32 x 3/8 PPH Zinc
2 11105 Screw #10 x 1/2 Zinc
3 11179 Screw #10-24 x 1/4 Zinc &
7 | 11237 Screw, Trilab M4 x 8 mm O
5 14389 Millivelt Valve (Natural Gas) a_)

14390 Millivolt Valve (Propane/LP Gas;

T17370-01 Millivolt Valve (NG-High Altitud
6 14492 Piezo |gnitor
7 14500 Brass Fitting
8 14253 Flexible Connector
e 14571 Ignitor Bracket
10 14528 Brass Elbow Fittin
11 104506-25 Orifice (Natural

104506-02 Orifice (Prop #55)
12 | 104509-02 | Aluminum mt) Assy
13 | 26808 Valve Brpfk
14 26827 I et
15 108886-01 e Assembly
16 108891-01 B
17 108084-02 ssembly (Natural)

108084-03 Mot Assembly (Propane/LP)

1::}3{}34-33 S‘-ﬁiot Assembly (NG-High Altitude)
18 o Bumer Base Assembly

19

27113

Air Deflector




